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When the window is in the normal open position
the opening must be at least 5.7 square feet in area.
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double-hiung casement

1. A times B must equal at lest 820.8 square feet
2. The width of the opening must be at least 20 inches
3. The height of the opening must be at least 24 inches
(20 x 24 only equals 480 square inches, not enough)
(32 x 26 = 832 square inches. 832+ by 144 equals 5.7777 square inches)
4. Sill must be within 44inches of finished floor

5. Exterior sill must be within 20 inches of grade




